
British Regional Heart Study Datasheet 1998-2000 
 

Station 1 MEASUREMENTS  Observer  

 READING  
Height • (cm) INADEQUATE?  

 Ever weighed more than present  ?   
Current weight estimate Actual weight If yes, maximum weight ever   

st/lb •  • kg st/lb  • 

Weight change in last 3 years Was loss intentional? Reason for change 

No = 1, Gain = 2 Yes = 1, No = 2 Personal choice = 1, Doctor’s advice = 2 
Loss = 3, Fluct = 4  Illness = 3, Change in smoking = 4, Other  = 5 

28.0 to 35.0 cm inclusive → Adult Cuff = 1 
Arm Circ. (R) • (cm) < 28.0 cm → Small Adult = 2; > 35.0 cm → Large Adult Cuff = 3 

Triceps skinfold (R) 1 Subscapular skinfold (R) 1 

• (mm) • (mm) 

Triceps skinfold (R) 2 Subscapular skinfold (R) 2 

• (mm) • (mm) 

Waist circumference 1 Hip circumference 1 

  • (cm) • (cm) 

Waist circumference 2 Hip circumference 2 

  • (cm) • (cm) 

Waist circ. Hip circ. 
Inadequate = 1 Inadequate = 1 

BLOOD PRESSURE  (R arm) 

SITTING STANDING 
SBP 1     SBP 2     SBP 3     SBP 4    
DBP 1     DBP 2     DBP 3     DBP 4    
MAP 1     MAP 2     MAP 3     MAP 4    
PULSE 1     PULSE 2     PULSE 3     PULSE 4    
 

Cau = 1, A/C =  2, Asian = 3,  
Cuff Instr. Temp. (°C ) • Ethnicity Orien = 4, Other = 5 

 
Alc 1 = Yes Dementia 1 = Yes Faintness on standing 1 = Yes Breathless 1 = Yes 

Serial : Batch :  

Name :  

D.O.B :  

Yes = 1 
No = 2 
DK = 3

Posture = 2 

 



 

SPIROMETRY Instr.  

No. Readings BTV % . 

 

FVC . Measured  values only 
FEV 0.5 . 
FEV 1 . 
PEF  
FEF 25-75 . 
FEF 75-85 . 
FEF 25 . 
FEF 50 . 
FEF 75 . 

Readings inadequate? Inad=1 
 
 
Station 2 Observer 

LEFT SIDE RIGHT SIDE 

Ankle oedema Yes = 1, No = 2 Ankle oedema Yes = 1, No = 2 

Leg ulcer Sole = 1, Ankle = 2, Shin = 3 Leg ulcer Sole = 1, Ankle = 2, Shin = 3 

Pulses Pulses 

Dorsalis Pedis Yes = 1, No = 2 Dorsalis Pedis Yes = 1, No = 2 

Post Tibial Yes = 1, No = 2 Post Tibial Yes = 1, No = 2 

Pacemaker Yes = 1, No = 2  

 Impedance ECG Yes = 1, No = 2 

BLOOD SAMPLING  

Success No = 0, Part = 1, All = 2 Failure  Time • 

Tube missing ( =1 ) 
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Station 3 BLOOD ALIQUOTTING Observer 

All tubes filled ? Yes =1, No = 2 

Tube missing ( =1) 
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Spirometer Output 
 
 
 
 
 
 
 
 
 

Refusal = 1 
No sample = 2 


